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DEPARTMENTAL EXAMINATIONS

DEPARTMENTAL TEST FOR THE MINISTERIAL STAFF OF THE
DEPARTMENT OF THE ECONOMICS AND STATISTICS

(Without Books)

Maximum Time : 1 hour Maximum Marks : 40
IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
QarergM euans ellanTssmer

Read the following instructions carefully before beginning to answer the questions.

damésErée alamLwaflss QammEGD ety SpasaTL Sile|@mIsHmar SeUaTons Uig S&@|LD.

NB: Words of masculine gender in these instructions shall, where the context so
require, be taken to include feminine gender.
Abs sfleymssdle <ar urdlanflean aunismssaftn, GaEtspu Cmauliigen Cue
uredeflen aUTTEMSSEHLD B|LBIGLD. '
This booklet should not be opened till the Invigilator gives a signal to open it. As
soon as the signal is received you should open the booklet and then proceed to
answer the questions.
Qb Aams@srelbamar  sansrafiuraier  oi@iod GQupusHE wdaanT  Hnsssal .
sansrafliurert elams@sralidamen AnliushE @ind efisse ar elamsdsregldama Hnbsl
eflenLweflés Qgm_mkisamb.

1. This question booklet contains 40 number of objective type questions. Prior to attempting to

answer, the candidate is requested to check whether all questions are there and ensure that
there are no blank pages in the question booklet. In case, if any defect is noticed in the
question paper, it shall be reported to the Invigilator immediately, within first
10 _minutes after which no request will be entertained.
Qacdamssiar 40 Qsrargd ams odamssmear Gsramig. ofamariugmisar el wefllss
Qs aper, edemgsrafléd ador elamés@nn GLb QuppeTerataur aaumswb, FCsEIb Ho
LaastsaT | edemssdr EfLluLmod AUl @drerareur aaumawb sfumisss Qamerenab.
Aamssrafa gCsayp @op Qoudar elamssremart Qupmp Ger Uss BIOlLRGEREGET 2D
sanasrafiviureriiib Qsflelss Cauar®b. <isnE ¥Wng Gsfadssiu@n Carflémssd ggib gnms
QamaTarliuL mLng).

2.  Answer all questions. All questions carry equal marks.
Simass amssE@sch o welss Cadm@n. masds cfamés@Esd swownen WSLGUGmTEET
Qg meT_enaeu.
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Candidate must write his Register Number in the space provided on the top right sge of this
booklet alone. Do not write anything else on the Question Booklet. ‘
damamiugryier udQeuanamean @aelamgsrafian Cod awg usssHL isHEsar @gEsILL(HaTar
B g8l erips CauamBd. eflamgsrafier Caum erenguib eT(PEE salNg).

The sheet before the last page of the question booklet shall be used for any rough work.
Aemgsrafen sl LEsEHDE per L&aSHO rough work erapdl umiés 2 LGNS SE)5 QsTaTeTayld.

(a) Each question comprises of four responses i.e. (A), (B), (C) and (D). Candidate shall select
only one correct response. In case, if the candidate feels that there are more than one
correct response, shade the response which he considers is the best.

(b) In any case, a candidate shall choose only one response for each question.

(¢) If more than one answer is shaded for a question, the answer will be treated as
wrong and no mark will be given for that question.

(d) The total marks will depend on the total number of correct responses marked in the
OMR answer sheet. (For this purpose, only one shaded circle for a question will be taken
into account for awarding mark)

(a) geaQamm elamain@nd (A), B), (C), (D) aear prang efarser Gasrhssiu’ (erarg.
Agmemiiusmyi seuphled gCsab g sflurer allanamwg Csiay el CauammBib. QEMISES
Cupul L sflwrer el aar @@ cdameln@ @mUusts smdeamnd, eundle el Was
sflwreng eran s AHTaCart, sjcuaieamLamw Bl @ sriL Caar(ib.

(b) eaaurdmi9ab, @ ddamelnE @Cr m edaLmus srear CsibdsH&s Cauam(HLb.

© en dardheg gamés CoiulL el tisald dloLwelsstiulgabsred euaim
SUDTESTS &BHSILLD, SlcuedameinE wlbuem aupkislLL DTLLTg).

(d) OMR eflers srmafled @hsstuL sllwrar el smart Qurmss, Qurgs wLCL@TEET
aupRsLILHL (@@ clamaln@ e el Ll (GHuG L) BlipadlL el wl GGW WG
QUG SaTsHle aTHEgE GameTeriu@D).

Do not mark the answers in the Question Booklet.
aamgsrafle eflanL_semers @GHlAL & saL 5.

Candidate shall not remove or tear off any sheet from this question booklet. During the
examination he is not allowed to take the question booklet out of the examination hall. Only
after the examination is over, he shall be allowed to take the question booklet,

amemriiugyi, elamgsrailan abs @@ LsssmSLD, FaCar oy SPssCar samLrg. Csia)
peLQumib Gurgl, edamgsrmer Csiey s smgell B QauefiCu a@ss Csie @ws SoLwng.
Gsitay pigbs WenanCr elanmssrenar ear(hissié Qb igidésiiu@au.

Failure to comply with any of the above instructions will render you liable to such action or
penalty as the Commission may decide. _

Consar. - siflaemrsaie gCsab WBoiu@Cowreamd Csiaurmenmubd aR&GL s e /
BLGulg&masE 2 ararrs Guifl(Hib.

In case of doubt, English version is the final.
lamésafie ebCsawlmLdan o mado ageld Aathssiul Gerear elamssGer GmiSluimeang).
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1. q)Vhen a coin and a die are thrown, the number of all possible cases in

@ 7 » (B) 8

&) 12 D) 0

@ BTN, @ usmLub @mmts alsliu@n Curg gnu@b o ellamareasafler

CTERTEN HENG
@A 7 _ (B) 8
€ 12 ' D) 0

2 Which of the following is Not a function of statistics?
(A) It simplifies mass of figures

(B) It facilities comparison
\W1C) It helps in digestion
(D) It helps in prediction
&G @HUGL Ll Retereupiler Lereafludiwd Qeuaun@saiie (function) Qeéenss) erg?
A)  yerefl efleugrusener eraflanliLIHSgIge |
B) puSOse aisfuGssd
(€) Gefloraisdle 2 saz6

D) sa@luugnHE 25645

3 - 117/DD/20
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3. When is the “Statistics Day” celebrated?
(A) 20d June v (B) 29t June

(C) 24th June (D) 30tk June

yemafludlwed e eriClumps) @a;rrs&oTL_rfl_l;:u@é]m@?

(A) o9ar-2 , (B) 29ar-29
(C). x9ar-24 _ D) xm96-30
4. Primary data means

\wtA) Original data collected for investigation
(B) Secondary data
(C) Published data

(D) Well classified data
wa@Blane efleurhiser eremis)
(A) Corig <pwieder eped Caafaaiul L eSleughiser
B) gpsarGel CS&a;rﬂé;a;uul'_l_ efleugmiser
(C) Qeuefull il sﬁmu@a;dr

D) penE ueTUmGHILILL efleurmhiger

117/DD/20 4



The arithmetic mean of 10, 20, 30, 40, 50 is

(A) 20 | B) 25
(C) 15 - 1) 30
| | 3

Gleummlen sl () syl 10, 20, 30, 40, 50
@A) 20 B) 25

(C) 15 (D) 30

Which of the following is used for in MS Excel?

) X

.m*
© M

(D) MUL

Spanamib 6T eTéeve—6a LhEsaIsEsTs LU HidsIuGHSng)

A X
B)

© M
(D) MUL

5 117/DD/20.
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7: If the income of 5 employee is Rs.900, 950, 1020, 1200 and 1280. Calculag the

median
(A) 950 w"'B) 1020
(C) 1200 (D) 1280

5 uenflumeriseflen eardlwib ¢5.900, 950, 1020, 1200 whmd 1280 erar @muSlar Sigen

QerLflenew Sereneu saTaSl(HS.

(A) 950 | (B) 1020

(C) 1200 S (D) 1280

8. Media;l can be located graphically with the help of
(A) Histogram | |
(B) Scatter diagram
l(C) Bar diagram

VD) Ogives

Qe flene Siateneu SDaTamib euarUL SSET epeid asmrré;QL (WPigWLb.
(A) HlapQeuar Cgeiaisd |
(B) Ssme euewyuid
(C) ulevL cuenyuLLd

D) eqmseu

117/DD/20 6



9. Find the modal value in the following diagram.

N
7/ o
(7
ov
a,'cﬁ X>
(A) d -(B) a-.
AC) b D) ¢
(g
SLpsmamib cuenTLIL Sl 1ps@ wHliemu sarLhlweib.
N
b By -
c
o~
7 oL x)
(A) d ‘ (B) a
(C) b - D) ¢

10. . In any distribution when the original items differ in the size, the value of
Mﬁs) AM>G.M.>2HM B) AM<GM.<HM
(C) AM=2GM.<HM D) AM<GM.2HM

TG @ Lreuade g6 cuamauilen iemay ormiLil g HUkler Digar iy

A AM=>2GM.2HM B) AM<GM.<HM
C) AM=2GM.<HM D) AM<GM.2HM

7 117/DD/20
[Turn over



11. The standard deviation concept was introduced by Karl Pearson in

(A) 1845 (B) 1856
W© 1823 | (D) 1832
AL elovsssdamen sie wreuen erhs aibLSSld g{@@a;uu@gé]émrfr?
A) 1845 (B) 1856
() 1823 (D) 1832

12. The coefficient of variation, the most commonly used measure of dispersion 1is

developed by
(A) Fisher (B) Croxton
(C) A.L. Bowley VD) Karl Pearson

fgped  armasafld  Gurgeuns vwearu@SsLL@D  wrour_(esw  Geugted

2_(HEUTSSLILILCL §).
(A)  Yegsm B) d&yrsevL_en
(C) g.era@. Cuemed (D) snire Gwimenen

'13. In symmetrical distribution’
(A) Mean > Median > Mode

\”B) Mean =Median = Mode
(C) Mean # Median # Mode
(D) Mean < Median < Mode

FLOFETTE LIFeuedled

(A)  gyrefl > @eoLflae > aps@

B)  syrafl = Qe flaw = ws®
©) sy = e Hevw = 56

(D) syrefl < Qe Blave < s

117/DD/20 8



14.

)

15.

(B)
©)
(D)

In negatively skewed distribution

The value of mode is maximum
The value of mode 1s least
The value of mean is maximum

The value of mode is zero

aréliianm CamL Ligeualed,

(A)
B)
(©)
D)

<iflsule (ps® wly
G@DHS ULE s willy
<ifsul s sgmefl LI

W&® LS UL Lsedlwib

said to be

(A) Negative Correlation
MB) Positive Correlation

(C) Multiple Correlation

(D) Partial Correlation

16.

If both the variables X and Y are varying in the same direction, the correlation is

X oomb Y eramp @rean® wrflaar (variables) @Cr favsuliedr wrpul B @muiden ige

L (Hnames Geieumm Sep&EsLD. .

(A) mg‘;]rﬂsm; L (Hne]
(C) Qumss e (Hmey
The limits of correlation coefficient is
A) -1=r<0
w) -1<r<1
L (Hme| dapailer crevena
(A) -1=<r<0
(C) -1<r<1

B) Gpflaor el Boay

D)

§2))
(D)

(B)
@)

UGS L Bney

117/DD/20
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17. When r = +1, it means there is
MA) Perfect Positive Correlation
(B) Perfect negative Correlation
(C) No Correlation
(D)  All the above

r=+1 erammy @) (L6

(A  sflwrer Copiroepuiner U Bipey
(B)  aflwren erdlioanmuimer gél'_@\g)m
(C) Qsm_mlereno

(D) Cuphsemm_ ammggﬁ)

18. The most popular method of studying “Association” is found by,

(A) Pearson (B) Spearman

(C) Galton D) Yule

Qrflgdu Qupp “Association” penm winymed ser®Hiiiy SSLUL L g)?
(A)  Quirevesr B) aQuirGioer

(C) smoLan D) we

19. A probability is a number which range from

(A) -1lto+l W»B) Otol
(C) -1to0 ' (D) 1to2
Rlapgse CUDb ereane

(A) -1lto+1 (B) Oto1l

C) -1to0 (D) 1to2

117/DD/20 10



90.  If a coin is tossed twice, the result of the second throw would in no way to affected by
the result of the first throw, It is said to be

(A) Mutually Exclusive Events
MB) Independent Events
(C) Dependent Events
(D) None of the above
Q@ Bramwd @mapen eSeu@Ham@uripg, @rarimd wep eisiu@damEum s
FgHUBLD elenaray, (pse apanm aigiLiBHib ellaearanat OB LTFEsILL Mo G)@HLiSer
() GG pen Aeisi> Hspal
(B) seafliul L Hlapey
(C) smiyenLw Hlape]
(D) Cupserm_eaunmier ergleydlaana

21. The range of ¢ — distribution is,

V(A) —0<t<w B) -1<t<l1
) O<t<w D) -wo<i<O
t — ugeuedlen elFs
(A) -ow<t<w - (B) -1<t<1
(C) O<t<o M) -w<t<O

22. Quartile deviation is given by the formula

_Q3+Q1 _Q3-Q1
&) QD.=== \AB) QD —
(C) QD.=Q3-Q1 ® @n.-& ; Q3
SMELDITE éﬁ]eués&nb @65 @gé,]qgg,nd) SiflutiuBElng.
@ Qp-=Y | ® on-%9
_(.C) Q.D.=Q3-Q1 D) Q.D.= Q1 ;Q3
- | 117/DD/20

[Turn over



23.

)

24.

v

25.

26.

0

In which distribution the mean and variance are equal

(A)  Binomial distribution (B)
(D)

Poisson distribution

Gamma distribution

Normal distribution

eThgL ureualle) spmal Hmib UFeuHLIg. SOWLNSE GMHEED?

SO LITEUG)

Gudblene LiFeued

its variance.

(A)  FmoLY ureud (B)

(C)  unlisrér Lyaud (D)
-Thel mean of the binomial distribution is

Greater than (B)

(C). Equal to (D)

FrmOILIL Lireuelled symafl Siger LiFeudHuigenw efl
A) odlswrs (B)
(C) &wwrs : (D)

The normal distribution curve is
(A) Mesokurtic (B)
(C) Not skewed v™D)

Gueblenay Ligaualer euanaray
(A) @u_m;u SL_anL_WLITeng| (B)
(®) (Sa-m'_LLb eV | (D)

The range of chi square distribution is

A) —oo to - ®B)
0 to (D)

M&6UTES LiTaledler aids

(A) —o to : (B)

(C) Otow (D)

117/DD/20 12

Less than

Square of

Bm&GLD.
GEMMAITS

GUMTHGELDTS

Unimodal

All the above

weefl Gom_e6d

Geneu eaTSHgID

—1tol
Otol

—1tol
Otol



The normal probability curve is

2
\/A) Bell shaped (B) S —shaped
(C) Cone shaped ‘ (D) J — Shaped
e @ueablae Hlapsse| euaearelmerg)
(A) Que euigeulomang | (B) S - augeunarsg
(C) Gamen augauonans | - (D) J- augeuwreng
28.  (Classical probability is measured in terms of
(A) An absolute value (B) A constant value
WO Aratio | (D) Both (A) and (C)
Qsreneno Hlapsse] @ aredlLiLGEng |
Q)  <imd wiiy (B) Heawnar wALiL
(C) &b D) (&) wpgid (C)
29. The equality of several normal population can be tested by

W) F — test (B) z” -test

30.

(C) t—test (D) None of the above

Lo @uahlene AgmEd syrailsailar swamar Cendlés 2 ga b GCersamen
(A) F - CGsngenen B) z° -Csrsemar
(C) t—Carsaner D) @eupmer ergieydlrane

The term ‘Regression’ was introduced by

W) Sir Francis Galton (B) W.S. Gosset

(C) R.A. Fisher (D) Karl Pearson

5 L e Qgmi CunE@ pepmeniu él[ﬁ]@a)uu@gﬁuajﬁ

(A) e Gyreedlev smevL e (B) W.S.smenl

(C)  R.A.Gayai (D) sniré Gwirever

13 : 117/DD/20
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31. If the each and every unit of population has equal chance of being included in the
sample, is known as

(A) Restricted sampling
Vvw™B) Simple random sampling

(C) Purposive sampling

(D) None of the above

@eubleum(m @b Gg;ngg@g,@a;a;uu@mg,ga;rrm gowmer eumiiiy o erer wrdlfleow @eueummy
S{EDLPESHELD.

A)  eerumssiu’L wrg
(B)  ereflw Eymm ordlf

(C) Crmaspenw wrdfl
(D)  @eunmer ergiajfléraa

32. In tossing three coins at a time, the probability of getting at most one head is

7 3

2. B —

W) 3 (B) 3

1 1l

C) = D) =

(©) 5 D) >
eparm  pramwtisamar @Gy Crrsdla &qu.aﬁ]@&@un@g RHPODWITRUSE SO

eSleugnarear Hlspssea,

N 3

A — Bl =

(B B =

1 I

C = =

©) > D) 5

33. Analysis of variance utilises
(A) Z-—test (B) y® -test
MC) F — test ' (D) t-—test
SpaaTLeuHmeT arhs Cangaar UreihLg uGsSsTLeile LweTuBH s ?

(A Z-Gsngenan _ B) - Cangenar
(C) F - Csrzamen - (D) t-—Csmgenen

117/DD/20 | 14



34.

35.

Statistics deals with
(A)  Qualitative information L”®) Quantitative information
(C) both (A) and (B) (D) None of the above

yarafluwe ergenL e QamijenLwig?
(A) ueTueTEne HEHEIW - (B) cramammarencu 5660

©) (&) wppi> (B) - D) Gapyer agaidoma

What do you mean by MS— Excel

vw*TA) It is an Electronic Spread sheet (B) Itisa Word document

36.

37.

(C) Itis a Power point presentation (D) None of these
MS—eréene erermmmed erepmen?
(A)  Blemengm) Lifeued Frer (B) Gaufi’_ peuanTid

(C) wveururner’ alarsss sm_& (D) Cuhsear_cunmer ergieyuilaeame

On an excel sheet the active cell is indicated by
(A) a dotted border \»1B) a dark Wi(_ie border
(C) a blinking border (D) None of these

a&ee grafled Qewaun g 2 arer GlFa ereueumm ser_Hluiemd?

(A) yarefludl L erevena ' (B) 51458 &L eTaana
(C) Wefimid erébena (D) Cuwpsam _cunmer ergadlerene _

Which of the following is used in formula in Excel?
A |/ ' \ B *

A0 = D) $

ECY @MU LUl Herereupie erg Excel — b uwamu@®gsliv@®n @&sslrn?
A / B) *
© = | O $

15 117/DD/20
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38.  Hypothesis of no difference is called

v A)
©)

Null Hypothesis ' (B) Alternative Hypothesis
Simple Hypothesis - (D) Composite Hypothesis

Caumur®Hser Geana erantb aT(®CEameT @)eueumm gmgé&uu@@m@.

(A)
(©)

Qe argd er(HCsmar (B) wmhm erhCamer
craflwu er(HCame (D) sl @ er(HCamer

39. Systematic sampling means

(A) Selection of n continuous units

V'(B) Selection of n units situated at equal distance

- (C) Selection of n large units

| (D) Selection of n middle units
pedmuenL il ereLig)
(A) Qgriipg n 2 mlilysamer er(BLLg
(B) swuwrar Agreneailc @@é;@u’n n 2 muysemer er(hLiug)
(C) Quilugrs n 2 mrisemer aHLLS)
D) owwsHod YBEEL n 2 MULS®ET THLILIG)

40. With a lower significance level, the probability of rejecting a null hypothesis that is

actually true ' -
(A) Increase
(B) Remains the same

\/C) Decrease
(D) None of these

foliy srerr w L Gapeuns 2 arer Gung @ aranb erhGamer sflwnsg @ma@n Qumps
<igaar Hlrsfsgaisster Hlapsse)

(A)
B)
©)
@)

117/DD/20
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DEPARTMENTAL EXAMINATIONS

DEPARTMENTAL TEST FOR THE MINISTERIAL STAFF OF THE
DEPARTMENT OF THE ECONOMICS AND STATISTICS

(Without Books)
Maximum Time : 1.30 hours Maximum Marks : 60
IMPORTANT INSTRUCTIONS

DESCRIPTIVE TYPE
elfeurer eflen_wefl&@Gb euens ellanmsHmer

Read the following instructions carefully before beginning to answer the
gquestions.
clleanés@hs@ elanwaelléss QETLkiELD (peL| SDE&EETL. 2Dl @ISmar SEITONG Lilg&5a|LD.
NB: Words of masculine gender in these instructions shall, where the context so
require, be taken to include feminine gender.
Ops Sifleymssele e urdlerflar eurigmssaie, GEasGspu GCsemeuliLiger LT
Limedlemilar aumiTden S5 (EmHLd L RIEGLD.

1. Answers in excess of the prescribed number of questions appearing at the end of the
answer book will not be valued.

evLgener @GOG Derer cramaniismasE idswrs erpHulgliler, ool gsraflen
@nHufe o erer 2ifls eramantGanaulamer eflanLser LHLLEEH QalwiiLrg).

2, In case of doubt, English version is the final.
edenmssafle sbCsaL0(HLICG 6 Dpmdle eulyafier AaTHssULL HeTer eSlammésCer QmidwiTers).

PART -1
Answer any THREE questions : (3 x T=21)
ereneuGuia b ppeann ellarTésEnd@ ella L wall&seab :

e Calculate mean and standard deviation of following frequency distribution of marks.
Marks No. of students
0-10 3
10-20 12
20-30 30
30-40 45
40-50 50
50-60 37
60-70 2L

[Turn over



gyme LHHID SHIL lleésD samss[H Cleliwa|b.

wHLCLeTHET  omaRTeUTSET 6T eTaRTERS M

0-10 5
10-20 19
20-30 ' 30
30-40 45
40-50 50
50-607 37
60-70 | 21
2. Compute Correlation coefficient. A group of eight students got the following marks in
a test in Statistics and Accountancy. '
Roll No. 11 12 13 14 15 16 17 18

Marks in Statistics 50 60 65 70 75 40 70 80
Marks in Accountancy 80 71 60 75 90 82 70 50

8 wremrauiiser Qameari_ @ el ydareflufwe wpmib seamdE udeilwe Corefle er(BdEsiu L
wHuQuenser SCp Qar@ssuul_Herergl. ol Hnesds(peimer samash Calis.
L. GTEUT 11 12 13 14 15 16 17 18

Yerefludlwed odl il Lier 50 60 65 70 75 40 70 80

sewré @ Ueflwe wHuCuemr 80 71 60 75 90 82 70 50

3. Five men in a group of 20 are graduates. If 3 men are picked out of 20 at random
(1) what 1s the probability of that all are graduates and (i1) what is the probability of
Ieast one being graduate. :
20 puiser Qasran @uede 5 purser ulLsrilaer. 3 puTsmer Fo Tl pepufled
Caimb@sM&@naunps (1) Carey Qelwliu@ib Smameipnd UL LsTisearms Qmés Hlapsse)
eremrent? oMb (i1) Cairey Qelniu@h FUsailsd GoDbsg GHeUTTaIg UL LSTTWLTE @) (568
Hl&DSs 6| eTear? ‘ | '

117/DD/20 | 2



A and B appear in an interview for two vacancies in the same post. The probability of

A is selection is % and that of B’s slection is —15— what is the probability that

(a) Both of them will be selected

(b) Only one of them will be selected and

(¢) None of them will be selected-

A wpmid B @rean® uvallikiser Garem Gy ugedssrar CriapssGsieid swbg)
Qarawr_ent. A GsibQsBssliuBeispstar Hensse6]| % B Camp@shésiu@eugnaer
Hlapsse6, % arafled 196maumeuaralDHDaTer HlEnssmael HrenTs.

(=) QmeumG CaipCs(és ILHesDSTE eUMLILIL

(<=3) @meul GG @g,ﬁjg@g;@ésas&u@mg;@&nm QUM

(@) @meaumGL CamplsdéEsuLTo G BLUSHETE eumILL|

The ranking of 10 students in two subjects A and B are as follows :

AlB
e
5| 8
3| 4
10| 9
2 | 1
4|6
9 |10
7|7
8|5
1] 2

Calculate rank correlation coefficient.

3 ' 117/DD/20
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|
A opmidb B @rewm® ure Alimseflé 10 wremeuisellen sreaifles Llgue EGp

Qar@ssiiL(HeTers).
| A|B
6 | 3
5| 8
3| 4
1OSNE
2 11
4|6
9 |10
717
8|5
1|2

U ey Qaeiar sreuflasmw samsd(Hs.

PART - 1I

Answer any THREE questions : - (3 x5=15)
&g’pasrr@)n_b‘ wery  AamssErsE smsswrs oL wefssayb. gaCaurm elamelhEnd

5 wHuQuamser.

1. Calculate weighed arithmetic mean for the following data.

% of Marks 71 83 73 74 65 66

No.ofstudents 3 4 5 2 3 3
Qesreu(mid efleuyhisEhsE Hlapudl L gl B srmef srans.

% LdLIQUeTEaT 71 83 73 T4 65 66

LOTemTeUTHe e eTavoTenildGens 3 24 b 2 3 38
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2.

V-

Calculate the quartile deviation for the data given below.

~ Daily Wages (Rs.) No. of wage earners

35-36 , 41
36-37 20
37-38 42
38-39 54
40-41 45
41-42 21
42-43 8

Qeeumd efeufmisEhéE aTeLomer 6lasEsLD seTsHS (HS.

e saal (e5.) GQsmemerisefier orament&ens

35-36 41
36-37 20
37-38 42
38-39 54
40-41 45
41-42 | 21
42-43 8

Calculate Arithmetic Mean and Mode.

The table below gives the weight measurement of 200 castings.
Weight in Kg No. of Casting

81-90 2
90-100 5
101-110 13
111-120 20
121-130 30
131-140 49
141-150 37
151-160 29
161-170 i
171-180

181-190 1

5 117/DD/20
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gl Rarraf wpmb ws® wHibmar sarés® Qaiueab.
SLpaTamid oL eueanuid erant SerailBasar 200 eumrliysenéE Qarhssiiul(Hereng.

el (HGeor) eumliLsaflen eramemnt&end

81-90 9
90-100 5

101-110 13

111-120 20

121-130 30

131-140 49

141-150 37

151-160 99
161-170 11

171-180 5

181-190 1

4. Describe the following.
(a)  Positive Correlation
(b)  Negative Correlation
(c) Simple Correlation
(d) Multiple Correlation
(e) Linear Correlation
Gereumeuaeunenn edleuflés) er(pais.

<) Cpfleni el (Hpey

(
(<) afflor gl Gpeay
(@) eoflu gL Gpey
(

(

FF

~—

QuBES @L(Hney
2) Gpflue ¢l Hipey
5. What are the methods of sampling? Explain briefly.

M saiiiL) (PEDEET ETEmDITE GTENEN? DHEUDHEOD &H(HSELOMS alaufl&sab.
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PART - III

Answer any EIGHT questions. All questions carry equal marks.
(8x3 =24)

Spsrapb B damssEsée Ws amssnrs ddoLwassabn. gaidans efameinen

epenml HUGLTEET &
Distinguish between Binomial Distribution and Poisson Distribution.
FFDI(HLIL LIFEUE) DHMILD LITLETen Lreuedlé 2 arer Gaumuim_enL edleTéEse b
Bring out any two difference between Correlation and Regression.
S BnelsEh o Ladgniiy Curs@seh 2 erer CaupunBsd gCsetd Gremen. afeufGsab.
Mention any two uses of Correlation and Regression. »
L_(Hpey| Hmid 2 L a@gri Cursdler uwenser gGsaib GreameaL elaufsasa|b. -
Define
(a) Mutually Exclusive Events
(b) Independents Events
(c) Dependent Events
G emmeu(meuaTeLDEND GG TILIMI&S.
(=) gaGpreLream efla&sd Blspa|ser
(=) emiupp Blapeiser
(@) enryenLw Hlspe|ser
Distinguish between
(a)  Null hypothesis
(b)  Alternative Hypothesis
\Qereu(peuarcumder Ceupim e efleuflés.
(=) Qe ereyid erHCamar

() wrHm TOCamer

7 ' : 117/DD/20
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6. From the following data compute the value of harmonic mean.

Marks 10 20 25 40 50
No.of students 20 30 50 15 5

Sparanid I Lamante QarGasiu(eaer gaedlear oigliumLuld @es srmaflaw
(harmonic mean) sewrédlL_a)id. ‘

g LICILamTgeT 10 20 25 40 50
. omewreuTgetien erarenilsans 20 30 50 15 5

7. What is the probability of picking a card that is red or black?
@m LD slg (b s AsliL deg s@mLY Bn Lol e@lughsrear Habsse, erare?
8. What are the two types of errors in Testing of Hypothesis?

a(Carear Congenamnuie ghuBL e[ euamswinear A& Wreel?

9.  What are the conditions for applying 7* test?

2° Gemseen LweTLHESIUSHES 2-Nw Hubsemenser Wmame?

10. What are the propefties of Good Estimator?

Béve senflliLimeniéE v Lemser wremeu?
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